Tableaux des Puissances de Dix (F)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

0,0001 0,001 100 0,1

12

72

37

95

25

0,1 0,01 1000 0,0001

40

73

91

55

10 10 000 0,01 0,001

77

98

81

33

21

0,001 10 000 0,1 0,01

53

52

93

76

13
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Tableaux des Puissances de Dix (F) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,0001 0,001 100 0,1

12 0,0012 0,012 1200 1,2

72 0,0072 0,072 7200 7,2

37 0,0037 0,037 3700 3,7

95 0,0095 0,095 9500 9,5

25 0,0025 0,025 2500 2,5

X 0,1 0,01 1 000 0,0001
40 4 0,4 40 000 0,004
9 0,9 0,09 9000 0,0009
73 7,3 0,73 73 000 0,0073
91 9,1 0,91 91 000 0,0091
55 5,5 0,55 55000 0,0055
+ 10 10 000 0,01 0,001
77 7,7 0,0077 7700 77 000
98 9,8 0,0098 9800 98 000
81 8,1 0,0081 8100 81 000
33 3,3 0,0033 3300 33000
21 2,1 0,0021 2100 21 000
+ 0,001 10 000 0,1 0,01

53 53 000 0,0053 530 5300
52 52000 0,0052 520 5200
93 93 000 0,0093 930 9300
76 76 000 0,0076 760 7 600
13 13000 0,0013 130 1300
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